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QUESTION 1

What are the component(s) of IBM InfoSphere MDM Application Toolkit Plugin?
A. Dojo Widgets, Customization Samples and the pME Console

B. A library of Dojo Widgets and domain samples

C. Domain Samples, Customization Samples and the Workbench

D. Another name for the MDM Workbench

Correct Answer: B

QUESTION 2

What is the significance of the updateRecord() method of an extension?
A. It updates the data in the database

B. It updates the data for the new attributes in the database

C. It contains validation for data

D. It checks for Primary Key value in the database

Correct Answer: B

QUESTION 3

What tasks can NOT be performed using the pME Console?

A. Add new instances of existing code types to the matching algorithm
B. Update anonymous values

C. Optimize the weights and thresholds used by the algorithm

D. Create and delete algorithms

Correct Answer: D

QUESTION 4
When specifying party relationship role, you will need to pair the following together:
A. Party ID, Party Relationship ID, and Party Role Type

B. Party Role type and Party ID
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C. Party relationship ID and Party Role Type
D. None of the above

Correct Answer: A

QUESTION 5

What is the best way to implement the scenario where an Insurance company wants to maintain the customer\\'s shoe
size?

A. Data extension

B. Data addition

C. Behavior extension
D. Spec

Correct Answer: A
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